


**Question 1**
The nucleotide base sequence and the associated sequence of four amino acids can be seen below:

AGG ACA CCT GGA

Serine Tyrosine Glycine Proline

The table shows the mRNA codons and their associated amino acids.

A single mutation occurred in the original base sequence of the DNA which resulted in only one amino acid

from the sequence being produced.
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Which of the following would represent the correct nucleotide base sequence which was found in the DNA

after the mutation occurred?

A. AGT ACA CCT GGA

B. AGG ACT CCT GGA

C. AGG ACC CCT GGA

D. AGG ACA UGA GGA
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